General example

Eligible patients
n=110

Excluded patients
Reasons n=0
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Abnormal result Normal result Inconclusive result
=5 n=105 n=0
No reference standard No reference standard No reference standard
n=0 n=0 n=0
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Reference standard Reference standard Reference standard
n=5 n=105 n=0

Inconclusive Inconclusive Inconclusive
= n=0 n=0
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Target condition Target condition\ /Target condition Target condition Target condition\ /Target condition
present absent present absent present absent
n=5 n=0 n=105 n=0 n=0 n=0
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